
ID. DESCRIPCIÓN DESCRIPTION QTY. REF.:

1 Defensa motor Engine guard 1 DGG001N

2 Tornillo M10x25 whitworth 3/8 M10x25 whitworth 3/8 screw 2 -------

3 Arandela M10 DIN9021 M10 DIN9021 washer 2 --------

Pg. 1/2

HD SPORTSTER IRON XL883N / HD SPORTSTER IRON XL1200N
HD SPORTSTER NIGHTSTER X1200N / HD SPORTSTER SEVENTY TWO XL1200V ’04-’15

Created by:  www.rrdisseny.cat

M O U N T I N G  I N S T R U C T I O N S

REF  DGG001N DEFENSAS MODELO MUSTACHE / ENGINE GUARDS MUSTACHE MODEL

Accesorio verificado en la configuración básica de la motocicleta. Para modelos con configuraciones extras de fàbrica. No podemos asegurar su compatibilidad, 
salvo consulta prèvia. Declinamos cualquier eventual reclamación.
Accessory verified in the basic configuration of the motorcycle. For models with extra factory settings. We cannot assure its compatibility, except for prior 
consultation. We decline any eventual claim.

PARA EL MONTAJE DE LOS PROTECTORES, SI USTED NO ES UN MECÁNICO, POR FAVOR CONTACTE CON UN TALLER ESPECIALIZADO. MOTOPLASTIC 
DECLINA TODA RESPONSABILIDAD POR LOS DAÑOS CAUSADOS POR UN INCORRECTO MONTAJE DEL PRODUCTO. EL MONTAJE DE LOS PROTECTORES 
DE MOTOR NO GARANTIZAN UNA PROTECCIÓN INTEGRAL EN CASO DE CAÍDAS. MOTOPLASTIC-PUIG DECLINA TODA RESPONSABILIDAD EN CASO DE 
DETERIODO DE LA MOTOCICLETA.

FOR TO ASSEMBLE THE CRASH PADS, IF YOU ARE NOT A TRAINED MECHANIC, PLEASE CONTACT A SPECIALIST. MOTOPLASTIC, S.A. TAKES NO 
RESPONSIBILITY FOR DAMAGES CAUSED BY IMPROPER INSTALLATION. THE USE OF CRASH PADS DO NOT GUARANTEE A FULL PROTECTION IN CASE OF 
ACCIDENT. MOTOPLASTIC-PUIG DECLINE ANY RESPONSIBILITY IN CASE OF MOTORCYCLE DAMAGE.

WENN SIE KEIN AUSGEBILDETER MECHANIKER SIND, WENDEN SIE SICH BITTE AN IHRE FACHWERKSTATT. MOTOPLASTIC,S.A. ÜBERNIMMT KEINE 
HAFTUNG FÜR SCHÄDEN, DIE DURCH EINE UNSACHGEMÄSSE MONTAGE DES STURZBÜGELS VERURSACHT WERDEN. HINWEIS: DIE BENUTZUNG VON 
STURZBÜGELS GARANTIERT KEINEN VOLLSTÄNDIGEN SCHUTZ BEI EVENTUELLEN UNFÄLLEN.



Tornillería original
Original screwsA

Tornillería original
Original screwsA

Pg. 2/2

HD SPORTSTER IRON XL883N / HD SPORTSTER IRON XL1200N
HD SPORTSTER NIGHTSTER X1200N / HD SPORTSTER SEVENTY TWO XL1200V ’04-’15

Created by:  www.rrdisseny.cat

I N S T R U C C I O N E S  D E  M O N T A J E  -  M O U N T I N G  I N S T R U C T I O N S  -  M O N T A G E A N L E I T U N G
REF
DGG001N

1

2
ASSEMBLY
MONTAJE

DISASSEMBLY
DESMONTAJE

A

A

3 2

A

A

1


